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NIV TN UYIINWUTN LU IUDU

AL 1 WVINAAUVBINNUIN 5X + 9 wag X - 5
WY (5X +9) = (X =5) = (BX +9) + (- X + 5)

= 5X+9-X+5

= (5X-X)+(9 +5)

= 4X + 14

MU  4X + 14
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M98 2 JIVNAAU  13x4+2 WAy X2+ 12x=6

ad o

591 (13x+2) — (X°+12x=6) = (13x+2) + (=x*~12x+6)

= 13x+2-x"-12x+ 6
= —x* + (13x-12x) + (2+6)

= —x*+Xx+8
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A22E199 3 JININAAUVDY 8X — 6 LAY 3X — 2
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01 38X
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F981971 4 INMNAAU 6:2+13% —15 LAY x2+2x—12
591" 6x% + 13x — 15
x> + 2x-—12

5x2 + 11X =3

Mau 5x° + 11x — 3
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fnae19fi 5 2evNaau 22 + 17 way — 19x — 4
511 2%° + Ox + 17
- 19x =
2x% +19x + 21
AU 2 +19x + 21
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1.-7x + 15 A28 5x - 2

Y1 (=7x+15) — (5x=2) = (=7x +15) + (5% +2)
=—(X+15-5X+2
= (=7TX =5X) + (15+2)
= —12X + 17
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2. JWWINAAUVRY Tm + 3 A8 - 2m - 5

ad o

AN (Tm +3) — (-=2m =5) = (Tm +3) + 2m +5)
= Mm+3+2m+ 5
= (Tm+2m) + (3 + 5)
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3. ININAAUVDY 18X2 - X - 10 A28 - X2 - 3X + 1
591 (18X%=X=10) — (=X?>-3X+1)

= (18X*=X-10)+(X*+ 3X-1)

= 18X* - X -10 4+ X* + 3X - 1

= (18X*+ XD+ (=X +3X) + (- 10-1)
19X% + 2X - 11
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4. 9% -x -3 08 — X% — 2X
Ox’ - X - 3
2 _2x + 0
10x* +x -3

mau 10X + X - 3
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5.3%% + 11x -8 A28 — 7x% - 17
359" 3’ + 11x - 8
- TxX° + Ox - 17
10x°+ 11x_+9

mau 10x%+ 11X + 9
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6.29%° -9 A28 -5 -Tx + 3
511 29%° + 0x - 9
5x% - IX + 3
34x° + X _- 12

mau 34x%+ Tx - 12
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